
ffis

t. *= *r-.\ + ftP1 
= -2x +o = -2x

-s. ft=fr<zx>+fr<t)=2+o=2

s. ?=!.-6o -+r, *t1
ta dx

=4.r3-8x=0

x=o, tJi

B.@) 
#=*t(r+lXx2 +l) l

=k+l)L(x2 +l \  "  d
.  .dx.  .+(x '  + l ) ; ( . r+l)

= (.r + l) (2x) + (r2 + l)(l)
=2x2 +2x+x2 +l
=3x2 +2x*1

13. Continucd

Al fi=ftr,+1)(r2+l)l
dt)=-(x '+x'+x+l)

=3x2 +2x+l

fSlr t+r+fXrn+.r2+l)

f t{r '  
*rrt +xa +2xi +x2 +x+r)

=7x6 +l} la +4x3 +6x2 +2x+l

23. (r) At.r = 0 , ft@vl 
= u1Oy, (0) + v(o) u,(0)

= (5)(2)+(_l[_3) = 13

O) At.r=s, 4 ( !)-utolu'(o)- uror' ro,
e\u) trtolt-

- (-lX-3):(5X2)__z
(-1)2

(c) Atx = 0, 4 ( !)= r4o)r'(o)=r(o)r'(o)
ar\u ) tu(0)12

_ (5x2)_(_tx_3)_ 7
6)? -E

(d) Ar.r = o, fr {r, - ro1 = 7v, (o) _Zu,(o)
=7(2)-2(-3)=20

,. #= ##S= r:,_z{a_r?,.*ls): re
(3x-2)2 -- 

A;F

o. 9- = lf <, -rxr'-*, * rrl= Z[r, - r'1ca dx\ ,3 r *G_ )
d^= 
fr{t- x-3) =0 + 3.r-a = 1

T'

n.Q=t(  . ' ) -a-  ^ -(a d&\t-x3 )---! ,_&2#lf,r'z) = :o 
*I

(r - r-)- 
0_ r3)z

s.*=*(ir).*(ir).i,.,
= x2 +x+l

, -  b =Lut -2x2 +x+l)' -  tu dt-
=3x2 -4x+l=0

,=I ,1
J



Ts y1.,i=-zi{
y'(3)=2(3)+5=11
The sloPe is 11' (iii)

13x2'12x-21x3 +11
4x2

4x3 -2=-
4x2

40)3 -2 IY \t)= 4ar7-=,
n(1)-  

(1) '* l  
= I2(r)

n=1(r-r)* l= 1r*1
"2 '22

zg.4=4<q.r-2 -8x+l)
d.x dx

= -8r-3 -8

35. Y = *-r+xz

Yr =-x4 +2x

Y\ =2x1 +2

Yfr =-6xa

YN =-24x-5

sryt"E3;t-a- -
y'(2)=3(2)z -3=9
The tangent line has slope 9, so the perpendicular line has

I
slope -i and passes through (2, 3).^9

1
v = -=(x-2\+3'  9 '

r29
V = -- t+-"99

Graphical support:

I
V

I-*7,4.nry{-2.1,1.U

i@:67 -6x-r,
=6(x2 - x-2)
=6(x+l)(x-2)

The tangent is parallel to the x-axis when y ' = Q, at x = -l

and at x = 2. Since y(-l ) = 27 and y(2) = 0, the two points

where this occurs are (-1,27) and (2, 0).

t .

' t -3,31by t-10,3Ol


